I-.l.

SV opigin 85 B ST T '
PP ot 90.1 Given the data below, test the hypothesis that the

# g Pnpulﬂ'liﬂns are equal Let a=0.05.
#”j:hf sample 1 Sample 2 Sample 3
[ 40 70 45
50 65 38
60 66 60
65 l 50 42

- e
, Westate our null and alternative hypotheses as

Hy: M, = Uy = Ky le all the three means are equal, and
H, : Not all three means are equal.

1 The significance level is set at @ = C.N5,
4} The test-statistic to use is

which, if Hy is true, has an F-distribution with v,=k-1 and

i..
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v) The computations are carried out as below:

Sample 3 Mku....
.H.Hu -N“....mu | __H.ﬂ—._-.—
40 (16800) 45 (2025) -
| 50 (2500) | 65 (4225) 38 (1444) e
60 (3600) | 66 (435%) 60 (3600) | 11858 .
85 (4225) | 50 (2500) | 42 (1764) 8489
sl ool N
__ 251 185 651 | 3673
" o e
| 4 46225 63001 34225 143451 4
4
v | 11925 15981 8833 36739 | s
. - ||I—Il|‘
2
T. (es1)8
Correction Factor (C.F.) = .nl = I.Hlu.l = 35316.75
" Total

SS=YYIX -CF
,._m_..__

= 36739 - 35316.75 = 1422.05
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Correction Factor (C.F.) = n " Ty " 353167

= 36739 — 35316.75 = 1422.25

Er
LI gr

r
143451

Between SS =

—~ 35316.756 = 546.00, and

Within SS = Total SS — Between SS = 1422.25 - 546.00 « g,
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The Analysis of Variance table is:

Source of d.f. ng ‘uf Mean C“mpu;& |
Variation Sq rares Square p
—--—-—'_——1‘-—'—_—‘1_\
Between Samples 2 546.00 273.00 273.00
97,35 "2
Within Samples 9 876.25 97.36 s I
ol Yaint 11 | 1422.25 — 1 sl
Total Variation ) : |

l_——-.,__—————-—-"—-—'_" ~

(v) The critical region is I’ > 1052, 9) = 4.26

(vi) Conclusion. Since the calculated value of F=2.80 does '!“
in the critical region, so we accept our null hypothesis «
conclude that a'l the three means are equal.
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